

On Finite Sums and Integral Representations

This is the Published version of the following publication

Sofo, Anthony and Batir, Necdet (2013) On Finite Sums and Integral Representations. Integers: Electronic Journal of Combinatorial Number Theory, 13. pp. 1-12. ISSN 1553-1732 (online)

The publisher's official version can be found at http://math.colgate.edu/~integers/n45/n45.pdf Note that access to this version may require subscription.

Downloaded from VU Research Repository https://vuir.vu.edu.au/40503/



ON FINITE SUMS AND INTEGRAL REPRESENTATIONS

Anthony Sofo Victoria University, Melbourne City, Australia. anthony.sofo@vu.edu.au

N. Batir

Department of Mathematics, Faculty of Sciences and Arts, Nevşehir University, Nevşehir, Turkey nbatir@hotmail.com

Received: 7/26/12, Revised: 4/29/13, Accepted: 7/6/13, Published: 8/12/13

Abstract

In this paper we give an alternative proof for a reciprocal binomial coefficient sum given by Sun: $\sum_{k=1}^{n} \frac{1}{k^2 \binom{k+n}{k}}$. We then generalize the result to $\sum_{k=1}^{n} \frac{1}{k^m \binom{k+n}{n}}$, for m, n positive integers, and give its integral representation.

1. Introduction and Preliminaries

In the paper [15], Sun states and proves the following new lemma.

Lemma 1. For each n = 1, 2, 3, ..., we have:

$$\sum_{k=1}^{n} \frac{1}{k^2 \binom{k+n}{k}} = 3 \sum_{k=1}^{n} \frac{1}{k^2 \binom{2k}{k}} - \sum_{k=1}^{n} \frac{1}{k^2}.$$
 (1)

Sun's proof relies on a known identity and induction. The induction proof is perfectly valid; however, it does not shed light on how and if (1) may be generalized. In this paper we give an integral representation for the left-hand side of (1) and then generalize the result in various directions. For the sake of completeness we first highlight the induction proof as given in [15].

Proof. Observe that, for $n \in \mathbb{N}$ (where $\mathbb{N} := \{1, 2, 3...\}$),

$$\sum_{k=1}^{n} \left(\frac{1}{k^2 \binom{k+n}{k}} - \frac{1}{k^2 \binom{k+n+1}{k}} \right) = \sum_{k=1}^{n} \frac{\binom{k+n}{k-1}}{k^2 \binom{k+n+1}{k} \binom{k+n+1}{k}} = \frac{1}{(n+1)(n+2)} \sum_{k=0}^{n-1} \frac{1}{\binom{k+n+2}{n+2}}.$$

There is an identity [4] that states: for b an integer greater than 1 :

$$\sum_{k=0}^{m} \frac{1}{\left(\begin{array}{c} x+k\\ b \end{array}\right)} = \frac{b}{b-1} \left(\frac{1}{\left(\begin{array}{c} x-1\\ b-1 \end{array}\right)} - \frac{1}{\left(\begin{array}{c} x+m\\ b-1 \end{array}\right)} \right);$$

and for b = 1,

$$\sum_{k=0}^{m} \frac{1}{x+k} = H_{m+x} - H_{x-1}.$$

Now

$$\sum_{k=1}^{n} \left(\frac{1}{k^2 \binom{k+n}{k}} - \frac{1}{k^2 \binom{k+n+1}{k}} \right) = \frac{1}{(n+1)^2} \left(1 - \frac{1}{\binom{2n+1}{n+1}} \right)$$

and hence

$$\sum_{k=1}^{n+1} \frac{1}{k^2 \binom{k+n+1}{k}} - \sum_{k=1}^n \frac{1}{k^2 \binom{k+n}{k}} = \frac{3}{(n+1)^2 \binom{2n+2}{n+1}} - \frac{1}{(n+1)^2}.$$

Therefore (1) follows by induction.

In this paper we shall give a different proof of (1), then generalize the result, and also give integral representations of the specified sums. These results will in turn allow for stronger results on the congruences of similar sums. First we give some definitions which will be useful throughout this paper.

The generalized harmonic numbers in power α are defined as:

$$H_n^{(\alpha)} = \sum_{r=1}^n \frac{1}{r^\alpha},$$

and the n^{th} harmonic number for $\alpha = 1$ is:

$$H_n^{(1)} = H_n = \int_0^1 \frac{1 - t^n}{1 - t} dt = \sum_{r=1}^n \frac{1}{r} = \gamma + \psi \left(n + 1 \right),$$

where γ denotes the Euler-Mascheroni constant, defined by

$$\gamma = \lim_{n \to \infty} \left(\sum_{r=1}^{n} \frac{1}{r} - \log(n) \right) = -\psi(1) \approx 0.5772156649....$$

Let \mathbb{C} be the set of complex numbers, \mathbb{R} the set of real numbers and \mathbb{N} the set of natural numbers. Then for $w \in \mathbb{C} \setminus \mathbb{Z}_0^-$, $(w)_n$ is Pochhammer's symbol defined by

$$(w)_{n} = \begin{cases} \frac{\Gamma(w+n)}{\Gamma(n)} = w(w+1)....(w+n-1), \text{ for } n \in \mathbb{N} \\ 1, & \text{for } n = 0 \end{cases}$$
(2)

where \mathbb{Z}_0^- denotes the set of non-positive integers, and the Gamma and beta functions are defined respectively as

$$\Gamma(z) = \int_0^\infty w^{z-1} e^{-w} dw, \text{ for } \operatorname{Re}(z) > 0,$$

and

$$B(s,z) = B(z,s) = \int_0^1 w^{s-1} (1-w)^{z-1} dw = \frac{\Gamma(s) \Gamma(z)}{\Gamma(s+z)}$$

for $\operatorname{Re}(s) > 0$ and $\operatorname{Re}(z) > 0$. The binomial coefficient is defined as

$$\left(\begin{array}{c}z\\w\end{array}\right) = \frac{\Gamma\left(z+1\right)}{\Gamma\left(w+1\right)\Gamma\left(z-w+1\right)}$$

for z and w non-negative integers, where $\Gamma(x)$ is the Gamma function. The polygamma functions $\psi^{(k)}(z), k \in \mathbb{N}$ are defined by:

$$\psi^{(k)}(z) := \frac{d^{k+1}}{dz^{k+1}} \log \Gamma(z) = \frac{d^k}{dz^k} \left(\frac{\Gamma'(z)}{\Gamma(z)}\right)$$
$$= -\int_0^1 \frac{\left[\log(t)\right]^k t^{z-1}}{1-t} dt, \ k \in \mathbb{N},$$
(3)

and $\psi^{(0)}(z) = \psi(z)$ denotes the psi, or digamma function, defined by:

$$\psi\left(z\right) = \frac{d}{dz}\log\Gamma\left(z\right) = \frac{\Gamma'\left(z\right)}{\Gamma\left(z\right)}.$$

We also recall the relation for m = 1, 2, 3, ...,

$$H_{z-1}^{(m+1)} = \zeta \left(m+1\right) + \frac{\left(-1\right)^m}{m!} \psi^{(m)}\left(z\right).$$
(4)

There are many results of the type (1) for finite, infinite and alternating sums. For example see [1], [2], [3], [5], [6], [7], [8], [9], [10], [11], [16], [18] and references therein.

2. Generalizations

The next lemma deals with an alternative proof of (1) from which more generalized identities can be ascertained.

Lemma 2. Let n be a positive integer. Then

$$\sum_{k=1}^{n} \frac{1}{k^2 \binom{k+n}{n}} = \int_{0}^{1} \int_{0}^{1} \frac{(1-x)^n (1-(xy)^n)}{1-xy} dy dx$$
(5)

$$= -(H_n)^2 + \sum_{k=1}^n \frac{(-1)^{k+1} \binom{n}{k} H_{n+k}}{k}.$$
 (6)

Proof.

$$\sum_{k=1}^{n} \frac{1}{k^2 \binom{k+n}{n}} = \sum_{k=1}^{n} \frac{n!}{k^2 \prod_{j=1}^{n} (k+j)} = \sum_{k=1}^{n} \frac{n!}{k^2 (k+1)_{n+1}}$$
$$= \sum_{k=1}^{n} \frac{n!}{k^2} \sum_{j=1}^{n} \frac{A_j}{k+j} ,$$

where

$$A_j = (-1)^{j+1} \frac{j}{n!} \binom{n}{j}$$

which can be easily shown by multiplying the previous equation by k+i and then taking the limit $k \to (-i)$.

Now

$$\sum_{k=1}^{n} \frac{1}{k^2 \binom{k+n}{n}} = \sum_{j=1}^{n} (-1)^{j+1} j \binom{n}{j} \sum_{k=1}^{n} \frac{1}{k^2 (k+j)}$$

$$= \sum_{j=1}^{n} (-1)^{j+1} j {n \choose j} \sum_{k=1}^{n} \left[\frac{1}{k^2 j} - \frac{1}{k j^2} + \frac{1}{j^2 (k+j)} \right]$$
$$= \sum_{j=1}^{n} (-1)^{j+1} j {n \choose j} \left[\frac{H_n^{(2)}}{j} - \frac{H_n}{j^2} + \frac{H_{n+j}}{j^2} - \frac{H_j}{j^2} \right]$$
$$= H_n^{(2)} - H_n H_n - H_n^{(2)} + \sum_{j=1}^{n} \frac{(-1)^{j+1} {n \choose j} H_{n+j}}{j},$$

which is the result (6). The identity (6) is an alternate representation to (1) and shows that:

$$\sum_{k=1}^{n} \frac{(-1)^{k+1} \binom{n}{k} H_{n+k}}{k} = 3\sum_{k=1}^{n} \frac{1}{k^2 \binom{2k}{k}} + (H_n)^2 - H_n^{(2)}.$$

From (6), (1) and some manipulations we can ascertain

$$-(H_n)^2 + \sum_{k=1}^n \frac{(-1)^{k+1} \binom{n}{k} H_{n+k}}{k} = 3\sum_{k=1}^n \frac{1}{k^2 \binom{2k}{k}} - H_n^{(2)};$$
$$\sum_{k=1}^n \left(\frac{(-1)^{k+1} \binom{n}{k} H_{n+k}}{k} - \frac{3}{k^2 \binom{2k}{k}}\right) = (H_n)^2 - H_n^{(2)} = \frac{2}{n!} \begin{bmatrix} n+1\\ 3 \end{bmatrix}$$
$$= 2\sum_{k=1}^n (-1)^k \binom{n}{k} \binom{H_k}{k} - \frac{1}{k^2}$$
(7)

where $\begin{bmatrix} \cdot \\ \cdot \end{bmatrix}$ are the unsigned Stirling numbers of the first kind (see [17]). Also from (7), after some algebraic manipulations, we recover the alternating sum identity [14], given by:

$$\sum_{k=1}^{n} (-1)^{k+1} \binom{n}{k} \frac{H_k}{k} = H_n^{(2)}.$$

The integral representation (5) is obtained as follows. Let $m \in \mathbb{R} \setminus \{-1, -2, -3, ..\}$ and expand,

$$\sum_{k=1}^{n} \frac{1}{k^2 \binom{k+n}{n} \binom{k+m}{m}} = \sum_{k=1}^{n} \frac{\Gamma(k) \Gamma(n+1) \Gamma(k) \Gamma(m+1)}{\Gamma(k+n+1) \Gamma(k+m+1)}$$
$$= \sum_{k=1}^{n} B(k,n+1) B(k,m+1) = \int_{0}^{1} \int_{0}^{1} \frac{(1-x)^n (1-y)^m}{xy} \sum_{k=1}^{n} (xy)^k \, dy \, dx$$
$$= \int_{0}^{1} \int_{0}^{1} (1-x)^n (1-y)^m \left(\frac{1-(xy)^n}{1-xy}\right) \, dy \, dx,$$

and putting m = 0 we arrive at (5).

Remark 3. As a matter of interest, in hypergeometric form (5) is written as:

$$\sum_{k=1}^{n} \frac{1}{k^{2} \begin{pmatrix} k+n \\ n \end{pmatrix}} = \zeta(2) - H_{n}^{(2)} - \frac{{}_{3}F_{2} \begin{bmatrix} 1, n+1, n+1 \\ 2+n, 2+2n \end{bmatrix}}{(n+1)^{2} \begin{pmatrix} 2n+1 \\ n \end{pmatrix}}$$

from which we see:

$$\frac{{}_{3}F_{2}\left[\begin{array}{c|c}1,n+1,n+1\\2+n,2+2n\end{array}\right]}{\left(n+1\right)^{2}\left(\begin{array}{c}2n+1\\n\end{array}\right)} = \zeta\left(2\right) - 3\sum_{k=1}^{n}\frac{1}{k^{2}\left(\begin{array}{c}2k\\k\end{array}\right)}$$

and

$$\frac{1}{(n+1)} \quad {}_{3}F_{2}\left[\begin{array}{c|c} 1,1,1\\ 2,2+n \end{array} \middle| 1\right] = \zeta(2) - H_{n}^{(2)} = \sum_{k=n+1}^{\infty} \frac{1}{k^{2}},$$

where ${}_{p}F_{q}\begin{bmatrix} \cdot, \cdot, \cdot, \dots, \\ \cdot, \cdot, \cdot, \dots \end{bmatrix} 1$ is the hypergeometric function. Also from (5), we obtain the very useful integral identity:

$$\sum_{k=1}^{n} \frac{H_k}{k^2} = -\int_0^1 \int_0^1 \frac{\ln(1-x)(1-(xy)^n)}{1-xy} dy dx.$$

To the authors knowledge no identity, in terms of special numbers, exists for $\sum_{k=1}^{n} \frac{H_k}{k^2}$, but we have the known identities:

$$\sum_{k=1}^{n} \left(\frac{H_k}{k^2} + \frac{H_k^{(2)}}{k} \right) = H_n H_n^{(2)} + H_n^{(3)} \text{ and } \sum_{k=1}^{n} \frac{H_k^{(2)}}{k^2} = \frac{H_n^{(4)} + \left(H_n^{(2)}\right)^2}{2}.$$

The next lemma deals with the derivatives of binomial coefficients.

Lemma 4. Let q and p be positive integers. Also let $Q(p, x) = \begin{pmatrix} p+x \\ x \end{pmatrix}^{-1}$ be an analytic function in x and

$$Q^{(q)}(p,x) = \frac{d^q}{dx^q} \left(\left(\begin{array}{c} p+x \\ x \end{array} \right)^{-1} \right).$$

Then,

$$(-1)^{q-1} q! \sum_{r=0}^{p} (-1)^r {\binom{p}{r}} \frac{r}{(r+x)^{q+1}} = Q^{(q)}(p,x)$$

$$= \frac{(-1)^{q} q! p}{(x+1)^{q+1}} \quad {}_{q+2}F_{q+1} \left[\begin{array}{c} \overbrace{x+1,\ldots,x+1,1-p}^{(q+1)-terms} \\ \underbrace{x+2,\ldots,x+2}_{(q+1)-terms} \end{array} \right| 1 \right].$$

For x = 0,

$$Q^{(q)}(p,0) = (-1)^{q-1} q! \sum_{r=1}^{p} (-1)^{r} {p \choose r} \frac{1}{r^{q}}$$
$$= (-1)^{q} q! p_{q+2} F_{q+1} \begin{bmatrix} (q+1)-terms \\ 1, \dots, 1, 1-p \\ 2, \dots, 2 \\ (q+1)-terms \end{bmatrix} \begin{bmatrix} 2, \dots, 2 \\ (q+1)-terms \end{bmatrix}$$

Proof. A proof and the following examples have been given in [12].

Now we list some particular cases of Lemma 4:

$$\begin{aligned} Q^{(1)}(p,x) &= -\left(\begin{array}{c} p+x\\ x \end{array}\right)^{-1} \sum_{r=1}^{p} \frac{1}{r+x}, \\ Q^{(2)}(p,x) &= \left(\begin{array}{c} p+x\\ x \end{array}\right)^{-1} \left[\left(\sum_{r=1}^{p} \frac{1}{r+x}\right)^{2} + \sum_{r=1}^{p} \frac{1}{(r+x)^{2}} \right] \\ &= \left(\begin{array}{c} p+x\\ x \end{array}\right)^{-1} \left[\sum_{r=1}^{p} \sum_{s=1}^{r} \frac{2}{(r+x)(s+x)} \right], \\ Q^{(3)}(p,x) &= -\left(\begin{array}{c} p+x\\ x \end{array}\right)^{-1} \left[\left(\sum_{r=1}^{p} \frac{1}{r+x}\right)^{3} + 2\sum_{r=1}^{p} \frac{1}{(r+x)^{3}} \\ &+ 3\sum_{r=1}^{p} \frac{1}{(r+x)^{2}} \sum_{r=1}^{p} \frac{1}{r+x} \end{array}\right] \end{aligned}$$

and

$$Q^{(4)}(p,x) = \begin{pmatrix} p+x \\ x \end{pmatrix}^{-1} \begin{bmatrix} 6\sum_{r=1}^{p} \frac{1}{(r+x)^{2}} \left(\sum_{r=1}^{p} \frac{1}{r+x}\right)^{2} \\ +8\sum_{r=1}^{p} \frac{1}{(r+x)^{3}} \sum_{r=1}^{p} \frac{1}{r+x} + 3\left(\sum_{r=1}^{p} \frac{1}{(r+x)^{2}}\right)^{2} \\ +\left(\sum_{r=1}^{p} \frac{1}{r+x}\right)^{4} + 6\sum_{r=1}^{p} \frac{1}{(r+x)^{4}} \end{bmatrix}.$$

In the special case when x = 0 we may write:

$$Q^{(1)}(p,0) = -H_p^{(1)}, (8)$$

$$Q^{(2)}(p,0) = \left(H_p^{(1)}\right)^2 + H_p^{(2)},\tag{9}$$

$$Q^{(3)}(p,0) = -\left(H_p^{(1)}\right)^3 - 3H_p^{(1)}H_p^{(2)} - 2H_p^{(3)}$$
(10)

and

$$Q^{(4)}(p,0) = \left(H_p^{(1)}\right)^4 + 6\left(H_p^{(1)}\right)^2 H_p^{(2)} + 8H_p^{(1)}H_p^{(3)} + 3\left(H_p^{(2)}\right)^2 + 6H_p^{(4)}.$$
 (11)

We can generalize (5) as follows.

Theorem 5. Let m and n be positive integers. Then:

$$\sum_{k=1}^{n} \frac{1}{k^{m} \binom{k+n}{n}} = \underbrace{\int_{0}^{1} \dots \int_{0}^{1} \frac{(1-x_{1})^{n} \left[1 - \left(\prod_{j=1}^{m} x_{j}\right)^{n}\right]}{1 - \prod_{j=1}^{m} x_{j}} dx_{j} \qquad (12)$$

$$=\sum_{k=1}^{n} \frac{(-1)^{m+k+1} \binom{n}{k} (H_{n+k} - H_k)}{k^{m-1}} + \sum_{s=1}^{m} \frac{H_n^{(s)} Q^{(m-s)}(n,0)}{(m-s)!}$$
(13)

where $Q^{(0)}(n,0) = 1$. For $m \ge 3$,

$$\sum_{k=1}^{n} \frac{1}{k^m \binom{k+n}{n}} = \frac{1}{n+1} \prod_{m+1} F_m \begin{bmatrix} (m+1)-terms \\ 1, \dots, 1 \\ 2, \dots, 2 \\ (m-1)-terms \end{bmatrix}$$
(14)

$$-\frac{1}{(n+1)^m \binom{2n+1}{n}} {}_{m+1}F_m \left[\begin{array}{c} \underbrace{(m)-terms}\\ 1,\overline{1+n},\ldots,\overline{1+n}\\ \underbrace{2+n},\ldots,2+n}_{(m-1)-terms} \right] 1 \right].$$

Proof. For m and n positive integers we have:

$$\sum_{k=1}^{n} \frac{1}{k^m \binom{k+n}{n}} = \sum_{k=1}^{n} \frac{n!}{k^m \prod_{r=1}^{n} (k+r)} = \sum_{k=1}^{n} \frac{n!}{k^m (k+1)_{n+1}} = \sum_{k=1}^{n} \frac{n!}{k^m} \sum_{r=1}^{n} \frac{A_r}{k+r}$$

where A_r is given in Lemma 2. Now

$$\sum_{k=1}^{n} \frac{1}{k^m \binom{k+n}{n}} = \sum_{r=1}^{n} (-1)^{r+1} r \binom{n}{r} \sum_{k=1}^{n} \frac{1}{k^m (k+r)}$$
$$= \sum_{r=1}^{n} (-1)^{r+1} r \binom{n}{r} \sum_{k=1}^{n} \left(\frac{(-1)^m}{r^m (k+r)} + \sum_{s=1}^{m} \frac{(-1)^{m-s}}{r^{m+1-s} k^s} \right)$$

$$= \sum_{r=1}^{n} \frac{(-1)^{m+r+1} \binom{n}{r} (H_{n+r} - H_r)}{r^{m-1}} + \sum_{s=1}^{m} \sum_{r=1}^{n} (-1)^{r+1} r \binom{n}{r} \sum_{k=1}^{n} \frac{(-1)^{m-s}}{r^{m+1-s}k^s}$$
$$= \sum_{r=1}^{n} \frac{(-1)^{m+r+1} \binom{n}{r} (H_{n+r} - H_r)}{r^{m-1}} + \sum_{s=1}^{m} (-1)^{m-s} H_n^{(s)} \sum_{r=1}^{n} (-1)^{r+1} \binom{n}{r} \frac{1}{r^{m-s}},$$

where the last sum is defined in Lemma 4, and hence equals

$$\sum_{r=1}^{n} \frac{(-1)^{m+r+1} \binom{n}{r} (H_{n+r} - H_r)}{r^{m-1}} + \sum_{s=1}^{m} \frac{H_n^{(s)} Q^{(m-s)}(n,0)}{(m-s)!},$$

arriving at the result (13). The integral (12) is obtained in the same way as was done in Lemma 2. $\hfill \Box$

Some illustrative cases follow.

Example 6. For m = 0 and 1, we have:

$$\sum_{k=1}^{n} \frac{1}{\binom{k+n}{n}} = \frac{1}{n-1} \left(1 - \frac{n+1}{\binom{2n}{n}} \right), \text{ for } n > 1;$$
$$\sum_{k=1}^{n} \frac{1}{k\binom{k+n}{n}} = \frac{1}{n} \left(1 - \frac{1}{\binom{2n}{n}} \right).$$

For m = 2, we recover the result (5), and for m = 4,

$$\sum_{k=1}^{n} \frac{1}{k^4 \binom{k+n}{n}} = \sum_{k=1}^{n} \frac{(-1)^{k+1} \binom{n}{k} (H_{n+k} - H_k)}{k^3} - \left(\frac{1}{6}H_n^4 + \frac{4}{3}H_nH_n^{(3)} - H_n^{(4)} - \frac{1}{2}\left(H_n^{(2)}\right)^2\right)$$

$$= \frac{1}{n+1} {}_{5}F_{4} \left[\begin{array}{c} 1,1,1,1,1\\ 2,2,2,2+n \end{array} \right| 1 \right] \\ - \frac{1}{\left(n+1\right)^{4} \left(\begin{array}{c} 2n+1\\ n \end{array} \right)} {}_{5}F_{4} \left[\begin{array}{c} 1,1+n,1+n,1+n,1+n\\ 2+n,2+n,2+2n \end{array} \right| 1 \right],$$

and

$$\sum_{k=1}^{n} \frac{1}{k^3 \begin{pmatrix} k+2\\2 \end{pmatrix}} = \frac{n(13n+27)}{8(n+1)(n+2)} - \frac{3}{2}H_n^{(2)} + H_n^{(3)}.$$

Remark 7. Some infinite versions of (12) have been evaluated (see [13], for example):

$$\sum_{k\geq 1} \frac{1}{k^4 \binom{k+n}{n}} = \zeta(4) - H_n \zeta(3) + \frac{\zeta(2)}{2} \left[(H_n)^2 + H_n^{(2)} \right] \\ + \sum_{r=1}^n \frac{(-1)^r}{r^3} \binom{n}{r} H_r,$$
$$\sum_{k\geq 1} \frac{(-1)^k}{k^4 \binom{k+n}{n}} = -\frac{7}{8} \zeta(4) + \frac{3}{4} H_n \zeta(3) - \frac{\zeta(2)}{4} \left[(H_n)^2 + H_n^{(2)} \right] \\ + \sum_{r=1}^n \frac{(-1)^r}{r^3} \binom{n}{r} (H_r^2 - H_r)$$

and

$$\sum_{k\geq 1} \frac{1}{k^2 \begin{pmatrix} k+n \\ n \end{pmatrix}} = \zeta(2) - H_n^{(2)}.$$

Acknowledgement. The authors wish to thank the anonymous referee for many valuable comments which have improved the presentation of the paper.

References

- H. Belbachir, M. Rahmani and B. Sury. Alternating sums of the reciprocals of binomial coefficients. J. Integer Seq. 15 (2012), Article 12.2.8.
- J. Choi. Certain summation formulas involving harmonic numbers and generalized harmonic numbers. Appl. Math. Comput. 218 (2011), 734-740.
- [3] J. Choi and H. M. Srivastava. Some summation formulas involving harmonic numbers and generalized harmonic numbers. Math. Comp. Modelling. 54 (2011), 2220-2234.
- [4] H. W. Gould. Combinatorial Identities. Morgantown Printing and Binding Co., New York, 1972.
- [5] R. L. Graham, D. E. Knuth, and O. Patashnik. *Concrete Mathematics*. Addison-Wesley, Massachusetts, 2nd Ed., 1994.
- [6] H. Liu and W. Wang. Harmonic number identities via hypergeometric series and Bell polynomials. Int. Trans. Sp. Functions. 23 (2012), 49-68.

- [7] A. Sofo. Computational techniques for the summation of series. Kluwer Academic/Plenum Publishers, 2003.
- [8] A. Sofo. Summation formula involving harmonic numbers. Analysis Mathematica. 37 (2011), 51-64.
- [9] A. Sofo. Harmonic sums and integral representations. J. Appl. Analysis. 16 (2010), 265-277.
- [10] A. Sofo. Integral forms of sums associated with harmonic numbers. Appl. Math. Comput. 207 (2009), 365-372.
- [11] A. Sofo. Sums of derivatives of binomial coefficients. Advances Appl. Math. 42 (2009), 123-134.
- [12] A. Sofo. Reciprocal power sums. Integers. 12 (2012), #A39.
- [13] A. Sofo. Triple integral identities and Zeta functions. Appl. Anal. Disc. Math. 4 (2010), 347-360.
- [14] A. Sofo. New classes of harmonic number identities. J. Integer Seq. 15 (2012), Article 12.7.4.
- [15] Z. W. Sun. Super congruences and Euler numbers. Science China Math. 54 (2011), 2509-2535
- [16] W. Y. G. Wa. Identities involving powers and inverse of binomial coefficients. J. Math. Research & Exposition. 31 (2011), 1021-1029.
- [17] W. Wang. Riordan arrays and harmonic number identities. Comp. Math. Appl. 60 (2010), 1494-1509.
- [18] Z. Zhang and H. Song. A generalization of an identity involving the inverse of binomial coefficients. Tamkang J. Math. 39 (2008), 219-226.